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(@mohit..9476 20 hours ago

Sir ji, 39 Class H Geometry and Trigo and Algebra Alternate Days T T 3 @Ifwi Plzz.

3 EHEI exam H 750 & o 5991 Practice alternate days TRETAT TR, Ja oa
And

Thank-you So much, Sir for these Daily Wonderful classes.. & .,
s !GP Repy

(@mohit..9476 20 hours ago

Thank-you Sir ji, for this Wonderful and TT97@ &1 Class Session.. ., &
And

My Answer For today's Homewaork is-

Option D == None...

Read more

eGP Renly

v '"“‘&' » 1reply

(@akanksha4264 1 hour ago

Thank u so muchh sr for this very amazing and wonderful session & my answer for today’
homework is 8

iy 'GP Repy
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@nishthashukla7405 20 hours ago
Homework Answer

a8
Thanku so much sir Jy s ol & 5
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(@amitsinghbabuaan 20 hours ago

8 answer
e ' GV Repy
w 7=« 1reply

@HRX9382 10 hours ago
8

e ' GF Reply
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@Ravi.1 20 hours ago
A*I*5=8

F Lo |




@surbhisinha7315 20 hours ago
8

s 'GP Reply

v 7%+ 1reply

@aishikaghosh9030 20 hours ago

8

e 'GP Reply
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The ratio of the Gold and Copper in a mixture of 60 kg is 8 : 7. What

will be the amount of Gold added to the mixture so that the ratio become

5:4?

60 ToRIIT < THrSIoT 3 e SR ShTUR T 317U § ¢ 7 71 frsror & mee

feRat W freTit gt aTfer tuTa 5 ¢ 4 8 S
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8 kg
3 kg
7 kg
9 kg
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A certain sum is divided between A, B, C and D such that the ratio of the

shares of A and Bis 3 ¢ 4, thatof B and Cis 5 ¢ 6 and that of C and D is
9 ¢ 10. If the difference between the shares of A and C is Rs.3,240, then

what is the share of D?
U [t Twist A, B, C 3R D o o= 38 Terr i shr st 2 foF A 3R

B < T%H1 T 3TUTA 3 : 4, B 31 C ST AU 5 ¢ 6§ R C HR D &I
FAUTA 9 : 10 Tl TS A 3R C & &EHT o o1 T 7V 3,240 TUT 7, AT D 6T

Feea =/ &7 a) Rs.9,520
b) Rs.8,800

=\ ‘.\\\ ///', (i d) RS . 9 9 6 O 0




The ratio of four numbersis 1/3 : 1/6 : 1/2 : 1/15 and if the difference
between the sum of two Largest together and two smallest together is 72.

Find the greatest number.
T HEATSAT T ATUT 1/3 2 1/6 : 1/2 : 1/15 ¥ SR TS 3T Tt HEATAT o
AT 3R S BIET HEATI & TRT oF S T 3R 72 31 a7 Tad g1 W& 71
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a) 45
b) 60
c) 75
d) 90
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One year ago, the ratio of incomes of A to B is 3 : 4. The ratio of their
individual incomes of last year and present year are4 :Sand 2 :3

respectively. If their present total income is Rs 3250 then find the income

of A at present ?

TS T9 UEET, A § B T 31T T 3TAUTA 3 : 4 2| TUSS a9 3R TaHH a9 <hl
IehY AR 3T ST SATUTA SHATT: 4 : 5 3R 2 : 3 ) FfE IThT T@0H FHe
AT 3250 TUH B, AT TAHTT | A <hi AT AT <hiTeTU)

a) Rs. 1500
b) Rs. 1150

(\. } D ¢) Rs. 1350
SN, d) Rs. 1250
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The salaries of Abhi, Bhunesh and Charu are in ratio 3 : 4 : 6. The
increments of 15%, 20%, and 25% are done to their respective salaries.
If the initial salary of Abhi is Rs. 39000 then what will be the salary of
Charu after the increment?

3T, AT 3TN <TE o A T AT 3 2 4 : 6 71 15%, 20% 3R 25% <kt
qfeg 3Tk oA | <Y ATAT g1 TS 7T BT TRIMEH S 39000 T & a1 A=
qieg o TG TATE T A (eha T FRIT?

a) Rs. 97,500
b) Rs. 48,750

SN, d) Rs. 88,250
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Five years ago, the age of a father was 7 times that of his son. After five

years, the age of the father will be 3 times that of his son. After how

many years, the ratio of father's age to that of son's age will be 11 ¢ 5?

Ui 99 Uge, feRuT TUdT ht 3T 3Heh Si¢ Shi 31T <h 7 7T eff| Ui Y a1Tg,
fOraT Y 7T 38k Si¢ sht AT i 3 TAT BRI TR o =g, foa &6t oy

R I hT T T AU 11 ¢ 5 T2
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a) 20 Years
b) 16 Years
c) 15 Years
d) 18 Years
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The sum of ages of father and a son is 86 years. If 19 years ago father's
age was five times the age of his son. If the son got married to a girl who

is 6 years younger than him, then what will be the ratio of his age and his

wife's age?

TUaT 371X Uk U <Y 31T <1 AT 86 99 2 ATS 19 TW U, fuar <t 31T,

3ok U <Rl AT T U T[T off| TS U T ToraTg Ueh Ageh! § 31T &, S

IAE 6 TN DI 2, A1 IHhT AT AR IHhT Ue

TN
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Before 6 years, the ratio between the age of Radha and Ram is 5 : 8. The
difference between the age of Ram and Radha is 6 years. After how
many years, the ratio of their age will become 13 : 16?

6 T | UETH, AT SR TH <Y 37T T STUTA 5 : 8 Tl TH SR T 6T AT
T 3T 6 T 3| TR A o ATE, Ih STTY T TAUTA 13 : 16 T T2
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A bent can row 15 km per hour downstream and 9 km per hour

upstream. The speed (in km/hour) of the boat in still water is:
Tk AT STIIATE | 15 TeRwit/eer i Tia & SR SHeawarg W 9 frHi/eer 6t
T O ST TehdT 21 TR’ et H AT <hl i (TShHI/EeT W) B:

a) & km/hour
b) 15 km/hour

! \3 c) 12 km/hour
NS ] d) 10 km/hour
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In a morning walk Rama walk at 12 km/hr instead of 8 km/hr, he would

have walked 16 km more, find the actual distance travelled by him.

g o1 A H T § TeRwt/eeT o Fm= wX 12 ToRwi/eer 1 TTid | Trerat § 3R
o€ 16 TeRHT 31TEreh SIeT UTAT , IHeh T 7 <hi T8 S (aeh 31 AT <hItT0)

a) 26 km
b) 28 km

! \3 c) 32km
24 km
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The average speed of a car which covers half the distance with a speed of
20 km/hr and the other half with a speed of 30 km/hr, will be:

Ueh sh AT S <kt 20 TerwfiyereT st =imet (i) & AR 91w el 8 <1 30
TeRHi/EieT <At TTeT W O Shidl g, A7 ShIX chi ATHT TTA (eha+l g2

a) 50 km/hr
b) 25 km/hr

} \j ¢) 26 km/hr

24 km/hr
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Excluding stoppages, the speed of a bus is 45 kmph and including

stoppages, it is 27 kmph. For how many minutes does the bus stop per

hour?

TETUST ! BISHT, Ueh I hi o1 45 ToRHT ot wieT @ 3R s afed, 98

aTer 27 TorHt ufer & 31 98 Ui & forae fae o foTu Tendt 22

I
T /
e /
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40 mins
24 mins
36 mins

20 mins
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A train, 500 metre long, running at a uniform speed, passes a plateform
in 35 seconds. If the length of the platform is 221 metre, the speed of the

train in km/hr is:

500 HieT el Teh TAMTET, ST Teh T ATeA A et & 2, Forel werewm it st
35 Aehe H TR &L oid1 21 TS TASth ¥ <hl eiaTg 221 HieT 8, af YeTet <hl
T TohH/EeT W SFRIT BIIT?

a) 74.16
b) 78.54

( } \j c) 24.76
\eD ) & 7236
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A man can row at the speed of 6 km/hr in still water, and the speed of
stream is 2 km/hr. If the time difference between the upstream and

downstream journey of the man is 40 minutes, find the distance?

Teh Tk 2R STA | 6 forHi/EeT hl et | A1 AT HehdT & 371X &R <Ay
=T 2 TeRHi/eeT 71 ATS SaTeh 6T T o TTaehel T 9RT o 3TTheT aTAT
ofter 3 THT T 3 40 Fre 7, 7@ g wma i

a) 15/7 km
b) 16/3 km

( ; } \> c) 18 km
el &) 133 km
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A man rows at the rate of 15km/h in still water and his rate against the

current is 13.5 km/h, then the man’s rate along the current is?

3aT: Ueh TSHT 91T STeT | 15 ToRHT / ©ieT il 20 & a¥aT 8 TR aRT o foeg
SR =TeT 13.5 foRHt / wer 3, Ot e <t faum o srreHt it et R 87

a) 16.5 km/h
b) 15 km/h
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